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“City Of Dead " - a UNESCO World Heritage Site is situated in __——

& (@) Egypt (b) Germany ©  Pukistan @) Burma
ity Of Dead*- @R R RRRE______ ARAR
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'@Aeela takes four times of the time to row a given distance against the stream as Fo row the same
distance along the stream. Ratio of the speed of the boat(in still water) and stream is :
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5 p A shephard had 17 sheeps. All but nine died. How many was he left with ?
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" ye are re laced by digit 1

; iohabets: ¢ |phabets at positions of of.fl.\fez Howpmany a?phfbet

y If in a list of all the alpne™= r;s f multiples of seven are re ; S
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Which of the following slogans was given by Netaji subhash Chandra Bose ?

(a) Giveme blood, I shall give you freedom

(b) Freedomismy birthright and I shall have it

() Defeatand failureare sometimes necessary steps of victory
d) It'sa fight for freedom, freedom from past for coming future
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nched the ChatGPT rival ‘GigaChat- Al chatbot’ ?

e i (d) North Korea
(3 Russia (p) China o e
o 2 3 ChatGPT TRES GigaChat- Al chatbot Tifl T € ? g
@ T \‘Q?J/% © A @
forA @H & ChatGPT f=31h ‘GigaChat- Al chatbot' &g 137 ? S
(@ b o © v9% @ €
1 /on 23" Jan, 2005 it Was sunday. What was the day of the week on 53 Jan, 2004 e
\-/ (@) Tuesday (b) Wednesday (c)  Friday (d) Sunday
>3 ot 2005 1 XAAR 4, 23 S, 2004 &) g 1 B A et 7
@) WTEER (b) THAR oy TR (@ IEER
23 1% 2005 § WEETHI 23 AGE, 2004&;;@@1%551371‘1 ?
@ hwes (O T © BEET @ W
9 BWORS A

{g/"ln a certain code, 'GAME' is written as 'HZND'. How is ‘RAVI' coded in this COdt'E ?
oo ffEd BT WS ¥, '‘GAME' @ 'HZND' ¥ w0 3 fora a1 51 39 R erﬂTfi_'Rplw\* Tﬁ%ﬁm
marem - (O C =N e |
e s : )
fifq ¥ I3 <9, 'GAME'?HZND'WW%l fer o3 fed 'RAVI éfaéé—a'si’lg_jfamﬂé?

() VIAR (b) SBWI (@ SZWI MZ"{NH

\13/11 June 2023, which of the following state governments launched Asia’s largest, ambitious and
historic cluster development scheme ?

(@) Rajasthan (b) Bihar (9 Gujarat (d) Maharashtra
S 2023 71 Pt & @ fo Toa TR 3 TR B ¥ o), Hgerapiah SR A TS

BSIIE] . (b) fEBR © ORI v
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A Where did India last win Olympic Hockey Gold Medal ? ;
(d) Melbourne g8, !

(@)  Helsinki (b) Moscow (©) Tokyo

HRT 7 3fE AR sicifte giet ol TGP el Sitdr o1 2

@) fciet (b) A \p/aaﬁ @ P

393 & winydt =g Gfug gt 1S e (o8 ffgmn w2

(@ JIBfH4 by HHA (c) <8 (@) WSS
\15/‘n/dia won the first cricket world cup on .

(@ 25" June 1983 (b) 25" July 1983

() 22" June 1983 (d) 25" June 1979

YRd 3 guH e fay o H St i

(@) 25T 1983 \9\/25 TS 1983 %

(¢ 2231983 (d) 25731979

EIGER éuﬁwmzfen%ﬁuﬁ@wﬁl

(@) 25d& 1983 (b) 25HSE 1983

() 22951983 (d) 25951979

~

\}6./ The perimeter of a square is equal the perimeter of a rectangle. The perimeter of the square is

40 m. If its breadth is two-thirds of its length, then what is the area (in m?) of the rectangle ?

e o 1 ORI T oad ¥ ORET & SIS i ¥1 o @ ok 40 HeR €1 Ui Tt e
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fome Bgret T 2 f3gTel 9, 3 wifesad ¥ 839es (m? feg) A J?

(@) 100 (b) 96 ( 84 (dy 121
-{'Argil Vijay Diwas' is celebrated on which date in India ?
(@ July 24 (b) July 26 (©) August 01 (d) August 03
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Coins : Mint 22 Bricks - ? d Cementry
(@) Foundry (p) Furnace (¢ Kiln
g ; THIId qc:? @ e
(@) WIS I P 4l
ﬂaéatﬂwﬂﬁmianﬂ?.ﬁ?ﬁ rAE 3T
1y . zams B :
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@) CUSES] (b) ()
: ~a AT
y' “The sum of first five prime numbers IS L=t d A4
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y I =
@ 1 b) 18 © d) 28 ..
20. /Séatement : The government has increased taxes on cigarettes to reduce smoking rates. ¢
Assumptions: I Increasing taxes is an effective way to reduce smoking rates.

. People will stop smoking altogether due to increased taxes.

(@ Only assumption lis implicit (b) Only assumption Il is implicit

(c) Eitherlor I is implicit (d) Neither I nor Il is implic‘.t
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;3/ If 22% of x=30% of y, then y 1 X s equal to :

a3 x BT 22% =y BT 30%, Ay : X R B

?2%:y?30%,?y:'xwﬁ:
s ey’ A5:14 (b) 15:14 (s 17546 " (d) 11;15

he altern jtive which will replace ﬂ 25. Ana
. s fallowing Ques 1on, find out ! e 81tET bs
% 21. In the follow 1. juest : @ canal abs
Flow : Rivel Stagnant ( : © Stream s
(a) pond (b) Raif w® ml '
ﬁwmﬁ@uamﬁw &
HaRom s A 3q faedd -
Udie : T8 gevd:? i @ Te3 ;
SIS © i .
Wﬁéwﬁé‘,@awﬁ?ﬁ@*méwg%a“ A
R : Lo ) \z/
> zamy: oel R3] il i .
£ . s () < ©
| i f hi . The age of the man will be 3 times
\ﬁears ago, the age of a man Wwas 7 umes the ag.e oh IS srownnoW :
the age of his son 1 five years from now. How old is the ma .
a (@ 30years (b) 40years (c) 50 years (i) M6l yeas
5aéqaa,u$aﬁﬁaﬂgmgafﬁ g @ 7 T ?ﬂ,e{aﬁcﬁaaﬁmﬁaﬁ 3T S B
i’ aﬁanqaﬁaw?rawﬁmmmtﬁaﬁmw ?
¢ (@ 3039 (o) 40T @/ 50T d) 60T
5 A Y& fﬁawﬁ@%@ﬂ%gﬁé@m@m@mﬁiuﬂwﬁ%mﬂﬁ%
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M/rhree numb ' i
ers are in the ratio 2 * 3 : 4. If the sum of their squares is 1856, then the numbers are:

i 2"3-4$Wﬁﬂ%1qﬁWﬁﬁﬁﬁ1856%ﬁmWﬁ |
A niE g 2.2 3 . ' -
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ctudents are girls and rest are boys If '; (&)

r~ _bsent, what part of the total aumber of students are present ? : W@a % al BE B Gy
[ g 2 &

, 3 5 2y g dSD qﬁ_a—ﬁf%afa?ﬁ'asa g

G g H &l ﬂ _1 ﬂg%‘!ﬁ e Gh—{ j %l 3 (i 7 r\?? :
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group- Find out the one

. ‘ o
four are same in a certain way and hence for

to that group-

_ Three of the following

which does not belong
(a) Violet (b) Green (©) Black (d) Red .
Wmﬁﬁmwmﬁaw%mwwﬁﬁﬁm%‘ RN
s o o g & e T el
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() 0 (b) < 2 (el |1 d) 4 —- 9
\Wwas the last Governor General of India ?
(a) Warren Hastings (b) C Rajagopalachari
(c) Lord Cornwallis (d) Lord Mountbatten
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¢ ! e smaller we get 6 Q;
; \ ¢ the large 1
0 29, The difference of two pumbers | 1 ‘{! 0“ (lN"i” H.}pr pumber ? n-m:ﬁa % "6
ab | na 7 e ah-‘
quotient and the 15 as renx yinder. what s the * ['H@'ﬂ‘ g faum EfTvle{ e

2 ol @1 AR 1365 | &S :
Wa%mﬂﬁuﬁm%m@@amﬂgﬁgﬁ6ﬁn@1
\-. 3ﬁtmm¥‘@vﬁaa136531eﬁﬁfwﬁ'?§%@w
At d? o 2

(@) 240 \(E)/QTO

en decreases by 197

4\,; T30 A number first increases by 10% anaip SIGl gl g 4 Jq @D BIGPIGS
Tl 4 Is: R 15% el 'GT g dH gl
,\oa qaaq@:ﬁqg@fw%a’ﬁﬂ@a@?ﬁ%m 1572 :
keIl 3 .l
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g /@ 65% () 55% g 42
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R ;
“ _ Ahere is the largest skywalk bridge " Indiag ¢ the above
\431 ?:) erefrasmilnadu (b) Kerald () Maharashtr@ @B
mﬁw@a@@@ﬁgﬁﬁﬁﬁ" 5 2 T
e O T < N s COF
mmwéwﬂa@@awf&aﬁ? e,
() BB (b) I ) RIEEES G A
\were was the Advantage Healthcare India (AHCI) 2023 conference held ?
(a Mumbai (b) Kochi (0 Hyderabad (d) New Delhi
2y TR =TT (AHCD 2023 e et A o T Ut ?
. (@ b CE (b)) Hr © oeE @ et
sreien dggand s (AHC)) 2023%%%%@#\3’13@711?
(a) ~HEEl (b) ot (© JedEw @) 9 S
h33 During the Mahabharata War, Shakuni was killed by
@ Bheem () Adn © Neku s e
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f India s

- et Civilian nward 0
b R ; (b) Padma Vibhushan

(a) Ashok Chakra

? (d) Padma Bhushan
(€) gharat Ratna %

: o1 1 AT e TR ——— |
@ NP ap © TR
a

d)~ Ta1 YNl

(© YRd Id (-;/
5793 @ HI<ES ~rgfad YIH'd ,
(@) »AEEEd e
(0) 3/d3 330 @ U

A woman introduces @ man as son of the brother of her father. HOW is the man related tg the

\}{ woman ?
) Unde (b) Cousin (¢ Grandson (d) Nephew
@m@wwwmmﬁmé%&%mﬁmﬁ%lﬁwmﬁmm
H&fa e ?
(@ T A TR (¢ U (d) M
ﬁ%ﬁ%éwﬁ@%w%uﬁeﬁmm%tm@wmé\mm
@ T (b) TEI 3T © U (d) I

: \% which year British had their victory in Battle of Plassey ?
it g A i ) o P i A R el
e e e v < g e s R R 2
(a) 1690 (b) 1748 ¢ )()/ 1754 (dy. 175¢ P

,\?y’lﬂ a certain code SHIMLA is written as RGHLKZ, then how will PATNA be coded ?
1% fa9y B8 H SHIMLA B RGHLKZ fore1 T B, A PATNA 1 e H ) feran s ?

feq ym a3 fée SHIMLAﬁr{GHLKszFWW?J feaPATNA&ésmfaéfng
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| Komal is the sister of Mitt
al. |

and Mil.tl‘qwm and grandfather of M"ttall \43

~inen, Esha
..~ Komal, Dipéen, e
} ¢ Ashwin, p | Dipen is the father o ho is the mother 7
2B, There are six person f Esha’s hnsbar'r‘:;j 3 ther in the group- W Esha
Kiran is the brother © thers an a mo (d)
0 e bro 1
There are two fathers, thr€ (c) Koma CARCER 2l 3, M H ':Iﬁ[?fz"

(a) Ashwin
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cent US trip, Prime Minister Modi was gifted a book of p
e ]

39./9(:;Ing his r
- k of famous poet i
e (© Emily Dickinson (d) E.E. Cummings

a o) ros (b) T.S. Eliot ¥ :
;riq:ﬁ;;;na;e{%ﬁﬁwaaaw TR A1 ) SEe gRI Hiaarst @1 U JXID SUSR H
I ER e sk v et c S K- a1 .

© UEARRFET () 33 SEd
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() TEICBIAC (b) AMAMEME () IS B (@) T Sl

40. ~The ratio of radii of a cylinder to a cone is 1: 2 . If their heights are equal, then the ratio of thei

volumes s :

T 9o S g B e 1 S 1 281 U TR S R B, D 37 airara 3§
%émg?ﬁg@m-mym1 231 999 851 ¥ Gureh wargg 3 3t Quat ® wmifes
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he largest natural number |
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always divisible, s - Procuct of three consecutive €ven natural numbers
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Am St Jtion A and t-rava_\]lc\(l towards station B at 70 km/h. At the same tier
Sle Jine ahr,

the.

T

' .nd started tra

' 4 from static y B anc |

e d had not crossed each other. After how m urs g
any hQUTS.Jt

- v fro
o still 65 km away
were sti . each other ? :

ctarting would they cros |
A ?f?ﬂ%a?l'{@mqa ' .
@ oA KT A * 3R T Aaﬁeoﬁ?ﬁfmaﬁnﬁ{gw%m%mﬁﬂ%%?ﬂ

velling to station A at 60 km/hr. After 11/2
o

m each other an

?ﬂgiﬁ@mmﬁ@@ﬁm(Cross)qﬁmm\w%m%%
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frg 3l Wﬂ@ﬁé”@ﬂmaﬁmwﬁuﬁémwﬁi@m%
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11/21&1%%@”@?1@3@3??651%1@1@@%»@@5 EU‘E_ | T e
@ﬁﬁﬂém@afﬁagﬂéwm B

o 12 © 10 ()~ 8 d) 6

ys are thrice the number of girls. Surinder

i ere nu ber O bo
There aré 80 StUdEﬂtS in a class, wher mbe f ‘
e 11 gir'ls ahead of SU(Indel, how may boys are aﬁ'-EH'.. :

canked 20" from the top. If there ar

rank ?
w$wﬁsowﬁ,mﬁa€ﬁaﬂma€%ﬁaﬂﬂ@i@ﬁﬁ@%\gﬂﬂsﬁﬁa_;gﬁgmmﬁ
%’lufaﬂag%ﬁgm%aﬁ%jﬁﬁﬁmmmﬁﬁﬁ?%?

Rq 3 s soﬁwﬁaﬁﬁéWéﬁ@aWéW*ﬁ 57 e 91 HdTa ¥
20%%?%1%3%%3‘5"11 Ww‘@aﬁ?@ﬂimﬁaﬁa P22 T 94 I 2

@ 49 (b) 51 \)@”53 (d) B3

The LCM of four consecutive numbers i« 60. The sum of the first two numbers is equal to fourt

number. What is the sum of four numbers ?

T R SEa BT LCM 60 T Tgel & Sl
RNE?

§1d B34 68d € LCM

AEdtd?
@ 17 (b)~ 14 ) + 21 .

aﬁﬁ@lﬂﬁ(?ﬁé@ﬂ%ﬁﬂﬂ%\aﬁwaﬁﬂf

60 J| W@ﬁm@@_ﬁsﬁaﬁﬁf&w%w%\ 3 T

Find HCF of 48, 168 and 324.
48168 3R 324 HT HCF T PR

48, 168 M3 324 T HCF ij/
(@ 12 |
18 () 28
——— (d 6
b &




z i orrect ?
erchanged to make the given equation € o

4y';ich two signs should be int
- 21 e o TGS ?
o e o ) T 2 R o <l et oo

ﬁéwmgﬁﬁﬂméﬁﬁéa@wwmﬁ?

255 *50/10+35="155 » Ty
(@) *and — ) *and + \(_c)/andr (d)s e 21

\}'-/ il one of the following given fesPOsSS e the e meaningful order of the following wordss

N o o Tange 5 CHEE R Rndle 5 iFSITRE
ﬁaﬁf@ﬁﬁﬁaﬁ?wmﬁuﬁﬁ?ﬁ STsa| P1 |idfep o 81 2
| 2. fay 3. dI®R 4, B S RgLl :

il x

ot 3 e £ frgan R 96 3 TS S MU o Jed?

1. fée o, e 3 = 4, S 5. BES
® 32154 © 21453 {aa/T._5,4,2,3

B 4 1523
a KB
48. If Meera is the sister of Jasbir, Jasbir is the wife of Parmijit and Parmjit is the son of Amarjit, how is
Jasbir related to Amarjit ?

(a) Daughter-in-law (b) Daughter

(c) Wife (d) Mother
af 17 SRR B 9 B, TR GRS @i Ul § SR TRASd ARSI &1 92T B, d SeR SRl
I HA e e ?
(@ 9§ (b) ®et
(c el d
Aag Hig 7Adia 9 3= 3, e U3 & uSat 3 W3 USHHIZ »HIHS T Y i
il TYIG J, 3T AN =
@ &9 o

49. The value of 8—[8—(5+8)—{8— (8—5 +8)} +10]is
8-[8—(5+8)—{8— (8~5 +8)} +10]HTAA_____|
8-[8-(5+8)~{8~ (8-5+8) +10)THS____|
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(b) 20
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e frei¢

50. Which company has signed 2 3 billion EUre contract 1o supply E"_”d SERE
(a) Robert Bosch (b) Schneider Ehec'tric
© Giemens (d) General Electric = a{gﬂﬂ = gﬂ&ﬁ faam% ?
Wﬁﬂﬁmﬁmﬂﬁ{ﬁaﬁ o SR Fa & fe 3
o e by WEST EEEed
‘ d SR gafae? :
%ﬁﬁmﬂ;ﬁwﬁammémn@ﬂ@gﬂ 3W9€%W >
AR T6?
o FEEE (b) FEES3 fedafed
© ¥R @ eas fEBdied
51. Whichone of the following is not a prime number ?
FAEH G TP A o T §?
5 et 8 fordd A 517
(b) 61 @ 7 d N

@ 2l
ong tied contestants.

o establish @ winner am

ditional contest carried out t
esents @ Tiebreaker.

om the options below that best rep”
dat2-2ina football match.

5 52. A Tiebreaker is an ad
Choose one situation fr

(@) Athalftime, the score is tie
ve each secured 1 set in the game.

(b) Serena and Maria ha
m will have to bat first.

il () The umpire tOsses a coin to decide which tea

(d) RCB and KKR each finished at 140 all out.
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U faord ¥ fore
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wﬁqaav ﬁaﬁgwﬁﬁz@aéxgﬂﬁaﬂ»ﬁﬁaféa :
e Eﬁfeaﬁfasﬁaéﬁ e Eﬁgﬂﬁ?mgﬁté\?wé\w
(a) mﬁnﬂ’amﬂaﬁaﬂé‘az-zmwﬁmal e
Eb) ﬂfm»@mawaw&'mqﬁzaﬁfwaﬂéa.
: o
(d} whufiea feg 2re 995 w6 s e 8878 J f& faash o § ufgw
= wTaHE o A 1403 WS WGe I TR & vt e e et
' 15
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53. Who is the Prime Minister of Egypt ?

bk A ma
(@) Mr Mustafa Madbouly (b) Mr Abdel Fattah el-Sisi 57. iy
(©)  Mr Hosni Mubarak (d)  Mr Sharif Ismail p
o nurR PE e ? Ld
(@ o T HES (b) o o e - 2!
© & S RS (d) o FHAR 3
fig T yTs HIR 4e 3 ?
(@) T yASe Hede (b) RS g3 wS-HH (a)‘
© Fﬂé‘ﬂ?ﬁv HEde (d) T e femrEts «
i i
54. Which is the first e-commerce company to set up solar farms in India ? x
(@) Walmart (b) Amazon (c) Flipkart (d) Ebay (
mﬁ@mmﬁwﬁﬂmﬁmﬁ%ﬁ%—ﬁnﬁﬁﬁq@%? _
(@ drame (b) S © fogere d) 39
mﬁaﬂmmmmmmﬁ-wmmﬁ? .
(@ <BHIE (b) PHHESG (© <fSyarde d) T

55. Rohit tells his son, T was three times of your present age when you were born.” If Rohit's present
age is 48 years, how old was the boy 4 years ago ?
(@) 24 years (b) 8 years () 12 years (d) 16 years
Afea o 9 q P ¢, '-aagl%mwganaﬁg@ﬁaﬁmwm?ﬂﬁww"uﬁﬂf%ﬁﬁ
T o 46 76 2, A 4 99 Ugd e 3 oy b 01 2
(@) 24 ¥ (b) 89

\ § © 129 d) 16T

Iz @ 2 & afder Q, W 3 U 32 31 3 I vige ©va 3 e g 1 Awe Jfaz e 3
©Hd 48 ATS I, 31 4 A8 UfTwi B3a & Qng ftat 1l

@ 2478 (b) 3

8 WS (© 1278 d) 167

56. KFON i i initi 3
Is @ project initiated by the government to provide free Internet connections 10

20 lakh below-poverty-line families and connect 30,000 government institutions in state.
(a) Kerala (b) Karnataka (c) Nagaland (d) Oddisa

(FON T TR ) v g TN 12 9 20 ol ) e 4
P H R
?:‘WWWWah?mﬁm,ooomwﬁﬁﬁil?ﬁ. & R gEH R i
(b) Ffew ( TS d) ISR

K
FON'%W‘:L:::?{ Faag o gt 1 3 Ist TR 20 Wy ufgerat § ez fedac
{a; "m‘“ ™3 I ¥ 30,000 Fgard HAEE & HE6 S Hg di31 fapr 3| g
oy —————— 8 AEmmy © EUE d) S
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o route at 30 km/hr, then

home along the sam

rage speed i
(b) 45 km/hr
(d) None of these ;
muﬁﬁﬁﬂﬁ%wﬁmﬂm%ﬁﬂaﬁmﬂﬁaoﬁﬂﬂuﬁﬂ%aﬁnﬁ%m
, AgaTe:
) 40 el wifd ©CT (b) 45 fepdl ofet ©CT
50 fapeft wfdr €T @ THIAPET
mmsommx@ﬁaéwwqu@aw@@ﬂmaowlﬁw
émﬂmmﬁw@?ﬁ,?éﬂ@ﬁﬂ?a@ﬁ:
(@) o finica U (b) 45 frnied F U
) 50 fanied Bt W (d) ﬁaﬁf@'ﬁaﬁé\?ﬂ
Rice is which type€ of crop ?
(a) Kharif (b) Rabi (c) Zaid (d) None of above
aﬁﬁmwaﬁm%?
(@) Rl (b) LGl © T (d) mﬁﬂ?‘rﬁ'{?\ﬁ
i foA g N EAB 97
e 0 © @ €3 R R

59. The ratio of width of our National flag to its length is

mﬂ@ﬂaaﬁraa‘raaﬁe?ﬂaﬁsémeﬁw%:
mmaéaam»@m@wa;

(@) 325 () =2:8 (@ 2:4 | ()34

/" Select the one which is different from the other three.

(a) Bokaro (b) Jamshedpur (c) Bhillai (d
7 &7 @ firg v e o1 ag o iy
@ BRI (b) SERER (© farg -
g g2 7t vt ot o8 a3 54

___(a) ¥ :
T (b) FHREYS @ fszmd
17 (d) ATIII

P.T.



. 140 soldi
0 days. After 30 days ers lefy V

< for 5 onsu.med completely if th 64
' (

ments for 210 soldier he food will be €

61. A cantonment had arrang® ch time t
= 5 fter how mu = e D
m,nonmelm fofr fbat(jlfé;;‘i?:s ‘:he At for the remaining soldiers @ None of the above ‘
i p) 47 days (chus, 12da¥= 3 qTG, 140 AfFD A g5 H
0 e fﬁ?ﬁﬂ?%qzwﬁﬁfﬁai o 1 e 30%2& f&rﬁ g & d1g %rﬁ
f%m%gaﬁnaﬁm@rﬁﬁﬁmqﬁww@ ¥
TRe QG Bl ST ? % o @ FTHIADRT
@ 6ofe (b) 47 e 140 firur, Bt Ry
: i i 30 fe& ; m
o e e so fet w210 BRI SO T T B C g e fch 5, e TG T g
w93, 81 88 I ﬁaawaﬂﬁﬁﬂﬂﬁéwsaraﬁ
$775 ydt 39 ¥SH I A= ? : et £ 1 :
@) 60fes o) 471 (@ 1218 ) LAkl
62. Ram, Mohit and Amit can complete a task in 12 days, 10 days and 15 days, respectively. In ho
many days can Ram, Mohit and Amit together complete the same task ? : 65
<, TR iR siftrd T P @ PA: 12 i 10 £ 9lR 15 fort B T % I ¢ H, AR o
aﬁaﬁwaﬁw&aﬁﬁmﬁﬁﬁﬁwaﬂm%?
I WIS w3 w3 g 12 fes, 10 fes 213 15 forst g g o Yd' oId AAR T | IH, W3
w3 i3 fowt 29 3 I § g 9d AdE 962
(b) 4 o, (d) 6

(@ 8

63. F‘our defens.ive football players are chasing the opposing wide receiver, who has the ball. Calvini €
direqu behind the ball carrier. Jenkins and Burton are side by side behind Calvin. Zeller is beh'mvc
Jenkins and Burton. Calvin tries for the tackle but misses and falls. Burton trips. Which defensiv

player tackles the receiver ?

(@) Burton (b) Zeller (¢) Jenkins (d) Calvin




- genE

Malaysid Masters 2023 badminton title ?

who won the
* ) viktor Axelsen (b) HS Prannoy
(
o Hong Yan9 (d) Prakash Padukone
Wm@zazma@ﬁﬁw@aﬁwm@?
@ faaey ekl (b) TaTEYHE
o FaE Rul @ PR
Ay HACTH 5023 Bfiics 3™ fomd fiifami 2
a = WEHSHO (b) NG WHUITH ‘
g1 gid @l d) YSHYEAT

in which year did India win Cricket World Cup at Indian Soil 7

m%maﬁﬁmmﬁq‘{%&ﬁ’dmﬁﬂmw

mﬁmﬂwmﬁmﬁéﬁa{azw#uﬁ%wﬁh

d) 2015

(a 1983 (b) 2003 (© 201

a, France, and the UAE recently began in which

_ The first maritime partnership exercise involving Indi

body of water ?

(a) Indian Ocean (b) Gulf of Khambhat

(¢ Gulf of Oman d) Gulf of Mannar

W,mmwmmmﬂm@ﬁmmammmﬂﬁmuw
q?

5 R AERIFR (b) THE D

© 3imE P Ee! (d) TAR P! TIe

@’m”@@é‘émﬁﬁaﬁmm@mm .

@ fd= e ) ¥R
{
SCELL LT
19 i ——




S

r words, oné of which cannot be forme,
e r

¢

w. This word is followed by four oth
i ) . . d.
by using the letters of the given word. ch;-:;‘ea{\’;f;’% a2 RrAA AT fau 7Y s & 3eRY »

Y v ez 2 T 1 39 UL @ SQ
mmﬁmmwélwwﬂ@ﬁ! _ . ovs f¥o & R
st iy wae i1 famr I @HWQ'W?HWWW@%'W% & 73wy
Wt & =93 g9a d1 geTen 1 Ha<'| FEe 83|

COMPREHENSION

(@) COMPRISE (b) PENSION (¢ ONION

6 :
7. Awordis given belo

(d) PREACH

conds. What is the speed of thy

68. A train of length 350 m crosses @ bridge of length 250 m in 20 se

train (in km/h) ?

gaaﬂzo@riﬁﬁmaﬂ?ﬁ%ta?aﬁﬂﬁ@?ﬁ/ﬁﬂﬁ)w%?

350 Hiex det TP 2 250 Hiex s
350%@@?@3&?@250}Wﬁﬁ8@€@%§20ﬂﬁﬁﬁgwmalmtﬁm
fefat & (.t pde 1€8)?

@ 95 (b) 72 (c) 108 (d) 88

69. I i
9. Name of mother of Maharaja Duleep Singh, the last Maharaja of Sikh Empire, was :

(@ MehtabKaur (b) Jind Kaur (c)  Datar Kaur (d) Ratan Kaur

T%@Wm%dfﬁnnsnmma?ﬂqﬁi‘sﬁmwwm:
(@) BEAE PR b) RigdR (€ TEAR®BR (d) IFTBR
ﬁwmﬁ'@wa?ww,waﬁuﬁm AT s -

n

(@ Hfgsgdg b) fiedg (© TIGaAI @ T35
a9

70, The avera
4 geof7,11, 15, x, 14,21, 25 is 15, then the valye of xis
- :15fx.14,21,25$r6?tm15%a‘rx$rm g |
: YA |

it :21,25"':"'})#33
15?fl'eax@]"fg a
. i 8 - |

@ 3
b) 1
e © 12 d 133
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™ 0 hich will b€ the 10
Plaw ﬁgﬁ@aq@mﬂwﬁq‘q’aﬁqw@m?
1 %ﬁjﬁféﬁwﬁﬁmﬁm?
357, 363 it i
N © 413 o 0

s Sobha Singh is famous for

72.
(a) Paintings (b) Music (©) Poet (d) None of the above
FXeR AT R ¥ R uRIE B!
tf e
(a) (b) Ed © @ (d) SWIE DI
A, A3 fHY TE HAgS Il
(a) UfeaH i
: (b) Hafl3 L
© d) feaeifedad &dl

W Fi ssi
\}/ ind the missing term in the given series :

st anet wft g gt 3R Afepon § B3

15,22 31

@ 60 |
(b) 68 ©” 70
(d) 74

o7/
21



74. PGIMER Chandigarh was inaugurated 60 years ago by ; ‘ &1
(@) Pt Jawahar Lal Nehru (b) Sardar Pratap Singh Kairon
()  Dr Zakir Hussain (d) Prof P N Chuttani
PeReETrEa g 1 IqUIcH 60 ATel Tadt fapieh gIRT et 77T o1 7
(@) Y. SERER e Aee (b) WRER wdTT g P
(c) ST SidR g (d) TpER g gert
PGIMER@%@@@@WGOWWWWWWFW
@) Uf33 Ae99 B8 afag (b) FHIEd Y3 fiw od
© 3wfad s d) Y twsgeat

i n the age
75. 2 years ago Radha's age was 4 times her son’s age. 8 years after the ratio betwee Ei

Radha and her son becomes 5 : 2. What is Radha’s present age ?

2 oY UEQ YT B 1Y STP ¢ B 31 B 4 AT A1 g g¥ qTe T SR IFP S D TG BT SR

5 : 2 81 ST & | 4T B IAHH 1Y FT © ? 78
> 7% st o 2 v §F YS9 € 84 3 4 T 7 8 WS EiE I 3 BRE UST € B T
WEU3 5 : 2 G e | W A Hger BHa st J 2

(@ 38 (b) 40 (0 42 (d) 44

76. A shopkeeper sold two mobile phones for Rs 20,000 each. The first one is sold at 10% profit and
the other one at 10% loss. Then his % gain or loss in this deal is :

(@) No profit no loss (b) 1% loss
() 1%gain (d) None of these

U GPITAR - &1 HISTEA B 20-20 TR T H J1 U6 HV 10% A1 3R 6 &Y 10% B T
ST I 9 IS ST T A1 BT R (%) B - = L

(@) AP AY, TP BN b) 1% 7
(€ 1%aH (d) TIPS TR

@‘aemﬁéumzo-zomguéﬁaéﬁl UTTBT 10% HAT 3 %13 TAr 109 ur 3 A
famer 3 fem e 8 @7 & B19 71 gamres yfsws (%) 3

(a) Wﬁﬁwwﬁéaﬁ b) 1% I&t
@ 1%33 d) feasl S It & o
CH-07/D 3
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7.

&J).

o 14 means /'~ means X, /" means '+, then 15-2 / 900+90 x 10015 X
If 'x' means — e
None of these

(d)

@ 190 (b) 180 © 90
a
0 x 100 &I
ar x dreed = wroef 7, ~ B x|y g 4 A 15'2/920591_ ;{o > 1I:m
; £ o ; ~ \Q —\oo = : - 2
qErm? Sk e B S +5
42, £ 902 SoIP a8 A EE TR
2o ¥ 107 i [
@ 190 (b) 180 © 90 @ T }
v+ It 15-2/900+90 x 100
3qg x THIBED -, '+ THIBE 7, < THIBI Ve ECEE +‘31015 2/@3?. i< %3 *?qw
D =0 = R T
? \f?‘\?fﬂ\rq o : = Yo ~\e@ = (5
a’mzaﬁﬁ 30 + .‘O..—F\I_Z/JI ﬁ;;%é vt-qn:é_.
@ 190 () 180 )90 i

figs HAE 926 € GArdl o ydt et Hi 2

\@» 1921 (bl 1927 (c) . 194% (d) 1950

IfA + B means A is the mother of B: A—B means A is the brother of B; A % B means A is the father
of Band A x B means A is the sister of B, which of the following shows that P is the maternal uncle

of Q?

WAB PR b A B ATR A-BHTHIZBA BB UER . A% &1 34 B 15 A B 1 e
e AxB TSI ERp A B P95 & o 719 A P 1 e axfer & iy P,QBIHHIR?

FIIA + BRI HTEI A BEAHID: A—B T HIBEIA B TITIA
; : ; ' A%BT WIE EURRLE;
AxB?fmaaﬁA,Bé%ﬁ,é@ﬁ?ﬁﬁmmﬁ@aﬁp,qvwé? b

@ Q-N+mxp ©) P+SxN-=q

9 P-Minyq d Q-S%p




’/

stance is covered by a ca

% the Same di

minutes, where@
eed O
r to the P SR A

oquﬁaum%,aaﬁﬁﬂﬁﬁ

stance in 1 hour 30

260 km di
e ratio of the speed of the ca

0. A bus covers
in 45 minutes. What is th

@aﬂeoﬁ?ﬂﬁimqsg S
A& gIa e
FR F) M P T ﬁsowﬁg%manﬁfﬂsﬁ

S it 7 o0 g AT !
' Smis e U3 @ i

¢ g amdmis R

@\, \V’: 1 b 1: 5 {0 33

0 ‘_.\ﬂ’ o

i @ On which date is International Everest Day 2023 celebrated _ 3
(@ May26 (b) May 28 © May27
W@Eﬁaﬁzoza%ﬁmﬁWW?
(@ 26W% (b) 2878 (\c)/ 27 TS d) 2978
gaged i foen 2023 fom i § Haten famT 2
@ 26 () 287 () 27¥& (d) 29 HE

. Lala Lajpat Rai died protesting against which British Act/Commission ?

(a) Rowlatt Act (b) Simon Commission

(c) Bengal Regulation Act (d) Hunter Commission

g fyfew siftfm/amin @1 AR e §U TTeT aroiaRid &t I g5 o ?

. (@) XdcUE (b) ZHEA HIARH
ey STE W Sifafige (d) B HHIHA

form fgfem Mae/afis & fedu aar I8 BT B3 I @03 I8t At 2

(a) JBMEL (b) HEHE I

() Hars IYBHS e d) dea ahms

\93/ Which of the following is not a leap year ? ¢ é\
3 i ’ \uv‘? r
Rl A 3w o af 782 %, S
ferrs 29 foraar &ty 7 3 - Ko
(@ 800 b :
®) 1200 () 1400 (d) 2000

»

r .
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/ gelect the related number from the given alternatives

ﬁﬁﬂﬁmﬁ?{éﬁm
ﬁgmwp-ﬁgﬁmﬁaaaﬂ@zaﬁ

N*M:‘l.‘q'*‘!BIIX*’Z:_? C;\‘ )—4‘

(bjesiEs = 24 (1-‘)/24 * 26

< 1 T P

d) 26*23

(a) 24*23
t at the ten’s place is tWO times the digit at the one's place,

A number consists of two digits. The digi
| number. Then the origina|

sing the digits is 27 less than the origina

The number, formed by rever

number is
@H@Tﬁaﬂ'@%mﬂ%wwmwﬁﬁwaﬁ&'ﬁmaﬁﬁlWﬁmmﬁ
e, e TR & 27 A S A S
fgaﬁfuw%‘awa@@am?ﬂ@m-gnﬁafé‘a@m@ﬁa@@w%twéma
wﬁww%ﬁwgzm—ammmma; Lo
(@ 49 (b).#w:94 (c)/ 63 (d),36 %L
| If3x+2y=?and4x—y=24thenx—y = 51\—‘&13 '- \ K A :%’%
| | ¢
qfasx+2y=?aﬁt4x—y=24?i’rx—y=? R - P f%;if‘
?IEI'dB><+2y:?7’#[3’4)(—y=24'3"r x—y =7? Forey=-er {'\(J\ 4 B E@
@ 9 ®) 1 © -9 @// I 4
0 - 4 s
oy N Ttgiley s B
ﬁ s s 0 N
o2 el e o e o 3
e /ngfﬁ
hat is Britain exit from European Union popularly called ? d ylﬂ}} o a8
@ S RS
a) NATOExit b ; : -
Xi (b) Brexit {)/ EuroExit (d) None of These m‘\am?,
i % g1t Y & 9TER SR 1 Wik Sl AT 1 PRI S & 2 13*;,94
'L_r\.)x‘
L'a )

(@) AfdRe (b) sfie © WoRTE @) THIPE
EUFYE TS S T LT
G e - © TERR g fegs R

25
p.T.0.




i
arh. The number of men are thrice the number of women in the bus, o
w number of men and women (

SN~ 88
B L iala 2 e leave the busand 1O enter the bus. NO
how many passengers entered the bus ? : )
S T B ST H 12 TN T

areequal,lnthebeginniﬁgr = e 1
o 3 T o 81 5 A s el 1 ¥ e TAE B I
' : ﬁﬁﬁéimwﬁw&ﬁ?ﬂﬁwaﬁaﬁ b

4
» 88./ A bus starts from Chandig

XA/ oo ¥ IR 16 AR T
= Wﬁ%ﬁmﬁ?ﬁﬁmmm? :
e : “ HETHT
/;& ] ?feaaﬂqsémaﬂmwa?émmﬁwﬁgm@ga'.@ fed
wr}f—{{é 12@%%%@@3@%”@16”@%@@ et 961 I SCERCRIEE]
O/t‘:\% Wélﬁ%ﬂﬁﬁﬁﬂwmm? \ "L\,_._'__ 23L
i 5 = \}d;/'}6 4
2}\09,), (@) 56 (b) 66 (c) 46 M- Le3 up
E \ - = b
4 it T s
7 2 ; . Reizea
9 \\i; @}/ World War I was fought during which of the following perlods ? ,‘\”“ ; y
> Umﬁgg@ﬁgﬁ@ﬁﬁ@fmé{aﬁ$émﬂ gemur? 10;21\""
mm@mwﬁa'mnﬂé‘wmﬁ o
(@ 1909-13 (b) 1914-18 \(Mnga d 1923-27 |
\30./ The greatest number that divides 38,45 and 52 leaves remainders 2,3 and 4 respectively is:
@ 4 (b) 5 (GG (d) None of these
T <) G S 38, 45 3R 52 1 Ry HRA B SR FAN: 2, 3 AR 4 2§ ¢, FofiRea 7 ¥
FHY 82
6 (d) FTHIADE T

(a) 4 (b) 5 (©
5 3 <2 At 31 38, 45 w3 52 & <3 I 03 Tl FHRE 2, 3913 4 TR 96, 36 Bt f&S faad

J:
(@) 4 () 5 \(5»/ d) feost s 3t =l

\/ﬂ Lyrics of Tk Kuri Jihda Naam Mohabatt’ were written by 2\ ) T it T\S/l
_ W 4
(a) Sahir Ludhianvi (b) Amrita Pritam et ;’/:f#
(c)  Shiv Kumar Batalvi (d) Jawed Akht g{%{\ (j':
ar ~ A
wid s:gmwmfasaw FNARRCRINDT e %’5{(
\ L
o R i TR s
g ol () ST TR g OF\ ey5al
2 WHETHS" @ﬂ}%‘__________wfgga@_ml ?’T ,__L.{-Z——ﬂ‘
@ A B 3 e
© PRHEwREd . R Y
e
e ——
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alike and fourth is different. Find out the fourth one

‘J ! .l
b ,: / jn the following, out of four words, three are .
?fi‘,‘ - SETE © Axe (d) Screw-driver
S : iR %ﬁrammwa‘“ﬁ'
i puffEd # TR Tl Fq AT AR o] TG ST
[\
3 SECa
Uy @ SN (b) TR © Feorel NG
%\} ¢ v S UGl
Vi W%ﬁ,%ﬂﬂ?ﬁﬁﬁﬁf&ﬁfﬁéaﬁ»@@mwéiw
(@ M (b) ¥¢ © qIE @ U

/30 men working 7 hrs a day can do a work in 18 days. In how many days will 21 men working
g hrs a day do the sameé work ?
(b) 21 days (© 18days (d) 16 days

(@) 20 days
3owm7ﬁ%ﬂﬂmwaﬂﬁﬁ1aﬁﬁﬁwmwﬁ%iZ}_&ﬂ?‘ﬂ?ﬂ%Uﬁﬁ‘im
] ﬁﬁaﬁaﬁﬁﬁaﬁﬁﬁﬁaﬂﬁ?
Y s :
9 @ 20 faA b 211 (181 d) 16 f&d

il 5w o few 2 7 22 i 9 18 Tt R e
Eﬂguﬁﬁaﬁﬁﬁfeﬁﬁam?
@ 20fes b 215 © 18fes (d)

. /Eight friends A, B, C, D, E, F, G and H are sitting in a straight line, all facing the North. F is sitting
between D and G. B is sitting between H and A. E is third to the left of G, who is sitting at one of

the corners. H is third to the left of C. Who is sitting at another corner ?
a3 A B, C, D,E,FGeﬁIana%ﬁaﬁi@Tﬁé%% quff W B 3R '

- , : TEHD IS SIF,DARGD
aﬂaﬁ?ar%rs,mhm%a"raﬁéa%lE,G%W%%ﬂﬂ“{wm%mmw;ﬁ;%a%ﬁH '
CF T A R W W 2| TR BH W PH 961 87 SERss s "
- e UHE)ﬂ <O Ef L E B

A B C D EF Gw3H e i s 48 88 75, i €33 < g ga@ 951 F, D M3 G S E
3 ' ¢
F

fegara 81 31 B, H 3 A 2 fegad 31 1 £, G 2 ¥ 3
R 3 | TR A8 3 e FET |EGRHRU IS Q) R g a3 13 # J1 W, (T
G

(
a) G (b) H () B \@}/ .
C
l
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omic Forum ?

3, released by world Econ

» der Gap Report 202 ' : % -
95~ What is India's rank In the Gen R WWH&T .
- &gy g RdYe 2023 : o
e garfie B g IR i iy s
mmﬁmwﬂ fgude - ECE eai(d) T
@ 122 by 127 (gl
\ \
/9{ On which date is World Milk Day observed ? i T k.
= (@) June 04 (b) June 03 (¢ June
%ﬂa@ufﬁwmf?@ﬁmw%? S
(a) 04T by 03 \()/ 02 5
m@mﬂmwﬁmﬁwwé? hude
(@) 0496 b) 0385 © 0215

Who won the Wimbledon 2022 Men's title ?

97.

v (a) Novak Djokovic (b) Nicholas Hilmy Kyrgios
() R Nadal (d) C Garin
ffgere 2022 & f&are farea SifdT o1 2
\ ¢ A A b) Free e it
(c) SR TsId d) Hmie
fEgB3® 2022 Y T fuzrg d< 3 2
@) S b) ToasH frmd faafeH
() Md&BIH o s

98. ;A:awat moved 20 m to the north, then turned left and covered distance of 34 m. Again he turned
eft and moved 15 m. Then turned to the right deviating by an angle of 45 degrees from the

ongoing direction. To which direction he is travelling ?

(@) South-west (b)  South-East (c)  North-west d w
est

QW?WEW%W‘?WW:&W@%?
ey e (@) Ay Rerziret ’
Fé? L (9 IwR-ufdm d) ufym

89 fo e & 71 figr 3
(a) THE-Ygy
(b) Ty >

mwgamsm%aammamm%;maa'aarafasnmmm%m@rﬁaﬁa




|
ey

How many of the following numbers are fully divisible by 1327 r4 )
: . nz 132
ﬁaﬁf@ﬁﬁﬁW@@rﬁwzﬁqﬂﬂﬁﬂm%? % /ﬁ"‘mﬁ
Sl e ? P h
w@%wga'wmﬁmmgﬁwﬂm'w o
Vi Vv ﬁ i T\ X \./ g
5%, 396, 462, 792, 968, 2178, 5184, 6336 ; 65 &
b) 5 © 6 o Me
=T

Original Song for

o p
which of the following Indian film personalities won th
" Naatu Naatu" for the 2022 Telugu film RRR ?

e Oscar Award for Best

\}/M. M. Keeravani (b) AR.Rahman
(¢ Resul Pookutty (d) Bhanu Athaiya
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